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However below ten 2°12v, all agree that he is 2391, because we assume
that mmaw »> AwYop; being contained in the airspace of a mwM, is
considered as if it rests there.

OVERVIEW

The concept of 1P is that when an object is contained in the airspace of a mwA, it
is considered as if it is at rest there. M50 initially qualifies the scope of mY7p; it is
not valid in all situations. In addition mo0n discusses the appropriateness of s'7727
consideration that all opinions agree that »»7 AW "5 7017p.
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When the object is in the hand of the %1y or the 2''7v2 when it is extended into
the other MW" (not in the MwA where the person is standing), the concept of Yo

is not applicable. mooin proves this —
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For when the 2''7wa places an object into his hand (of the 1) when it is

extended into the *"77 and the °1¥ brought it out, he is not 271, even though the
object was originally contained or 7v17p in the "7 (and it should be considered at rest there
according to the ruling of nv1%p, and it should be considered that the *1v who is removing it is
making an >"7172 77°py [and would therefore be 217]), nevertheless since it was in the hand of the
*1v, there is no concept of .‘lm‘7|?.1

Mmoo asks:
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The 5''1 is astounded! If there is a Xn>"92 anywhere, which states that there is a

requirement that 717277 is to be only on a place that is four by four o’nov -
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and as this is partially indicated further’ in the X773, that there is such a Xn»13,
for X9°1 '3 said that our mwn follows the opinion of 2¥MX," who maintain that a op»

' mooin does not explain why the concept of 72p does not apply. The 2"mn explains that since the body is in a
different N1, we maintain that 7°73 1913 70217 the hand is dragged towards the body, and it cannot be considered as
if it is at rest in the MW" where the hand is. See R"y737% 0"wn 123, Others explain that 7m%p applies only when the
object is totally contained in the airspace of the N1, not when it is in someone’s hand shielding it from the airspace
of the mw~ (even if his hand and body are in the same mw").

* There does not seem to be an apparent connection between what n9910 said until now, with the s*"3 question (see
n W naw).
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"7 is not required for a 7M1, X7 "1 goes on to quote this N2 which states that 2°7nX do not
require a >'7 0PN -

— 199¥ 1929 22997 YPUN
This would indicate, since the Xn>"72 quotes this ruling only in the name of 21X

that the 7229 argue on this ruling of 2"nX. And they maintain that a '7 01p» is required for a
anan.

mooIn is assuming that there is more to the Xn> 12 cited by X7°7 " than only the opinion of 21X,
there must also be the opinion of the 7127, who argue with o°7nR, for if all agree with o°7 R, there
would be no need to say that this is the opinion only of 271X, since everyone agrees. Therefore
we can surmise that the Xn>72 also contains the opinion of the 3127 who argue with 2°nX and
maintain that a '7 23pn is required. It is just that X7°7 "7 did not quote that part of the Xn>72 (the
opinion of the 1127) since it is irrelevant to his point. Now that we presume that there is a Xn>72
which states that a '7 2Ip» is required, so the >"7 asks -
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if this is so, that there is an opinion in a Xn>72 that a "7 23pn is required; how can
1727 say here in our X713 that everyone agrees that a 7015 1"771 777 °"77% "7 pan
"1 is 2%, because of PP, implying that a 7 21p» is not required,; if this is so, that
everyone agrees that a "7 0p» in not required, then that Xn>»92 which says that the
7127 argue with 271X, and maintain that a "7 21pn is required, who will these 7127

be?! We are saying here that everyone agrees to 2P, meaning that everyone maintains that a
'7 0Pn is not required; in opposition to the 1127 in the Xn*>72 of 0N who contend that it is
required?!

mooIn question is, how did 727 entertain the option and assume that everyone, both ¥"9 and the
71127 hold that a "7 2P is not required, when we presume to know that there is an opinion in a
Xn»121 that a '7 23p» is required. So therefore 727 should not have chosen this option, when
explaining the np17mn between ¥"9 and the 3127, and 727 indeed has another option how to
explain the n12mn, so why entertain this option when it poses a problem.

MooIN answers:
- N1’ NYNND NI P50 1339 RDPY 229 PRy > NYP XIT AN

3 R,797.

* See “Thinking it over’.

> The xn»"2 states the view of X that if a person threw an object and someone else received it while standing in
his original position then the thrower is 2»11. However if the receiver moved in order to catch the item thrown, then
he is not 2>17. It is evident from the first case that he is 217 even though the 7117 was (on his hand, and) not on a 2pn
7.
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And it appears to moon that there is no difficulty at all that 729 should
reconcile ¥''1 and the 3121 like our 7w, which presumably holds that a "7 21pn is
not required, since one is 217 if he makes the 71177 on the hand which does not have

a "7 0P, and not reconcile our 7127 with the 7127 of that Xns993, who say that a '7 o3p»
is required. What advantage is there in doing this? Seemingly we are contradicting these 7127
with those 711277 Nevertheless this still is preferable -

— NIYY 99193 PPNNINM PRYIY 1Y XNT

For it is preferable for 7121 to reconcile our w» according to everyone®, i..
both ¥"7 and the 7127. It is preferable that a 7wn should be in agreement with a majority of
opinions, rather than just one opinion, ¥"1 in this case. Therefore 7127 entertained the option that
both ¥"1 and the 1337 hold of V%P, thereby not requiring a '7 D, even though this option
causes the difficulty of not reconciling the 1127 of ¥"7 with the 7127 of 271X, because on the other
hand we gain that our 71w» would be a majority opinion.

SUMMARY
It is preferable to reconcile a 71wn with all known opinions, than to reconcile a
Xn>72 with any of these opinions.

THINKING IT OVER

MBoIN mentions the XN>72 of 2 nX (cited by X7°1 ) from which we can infer that
there is a 1127 who argue on the o™X and maintain that a 't 21p» is required.’
Seemingly Mmoo could have cited the *xn>2 of X¥AXA *"771 2" 2"77 p1 where
the o°non (who argue with °27) clearly do not agree with mvY9p. This is in direct
contradiction with 727 who states that ¥"> agree that *n7 Annaw "»3 7v1%p. Why did
mooIn ask from an inference when he could ask from a nwon &n»12?!°

% It will be necessary to interpret the term 21 %37 *727, in a narrow sense referring to 1327 ¥"3 of our NP>, not a
universal 9377 *127, for the 13121 of 27X presumably argue with this 9577 *727.

7 See footnote # 4.

841,

? See [MxA] R"wAm.
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